a 17,104

TR28F 1181387 et HEsEs 1By
@ EFFEE HHEES - 25 187
118138 2285004 FEFE  BEFH 17,29
E IBAHE BEH %
8 XFH RAF 1,281 = owE A
b FH RA 1,169 = 4 A
12 &)l FnsE 1,138 =R N
16 HA HIH= 1,120 = uE A
21 RE 58| 1,033 = OE A
10 KT IEFE 945 = owE A
17 RPFE X 026 = LR A
11 JXF [Ef& 852 = OE A
14 DO E& ik 838 = ouE A
3 HIE FZDY 801 = owE A
20 Amr EA 771 = 4R A
] t=FLIT &5 765 = o E A
19 ®17 ¥R 753 = OWE A
6 EH EF 751 = omE A
2 BR &ELIES 737 = owE A
22 WK FbH 678 = OE A
9 FHE JHE 667 = omE A
4 HEES 2= 633 = owE A
15 A& [T 536 =
1 HBXRK —iH 429 =
13 FH Fx 174 =
18 UG &g 107 =




